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1 Baseline figures used in 2005 are from estimation of the MTCT risk (about 35-40%) without PMTCT 
intervention. 



7 
 

���������&'(��������

�=  �� �2����3-� ���� ���2�� �3� '6 � � ,
������ ��� 6
�
8
<�� 	����	,�@���	�
������5=�

�=  �� �?
����� ���� �	�,���� 
�2� ���
,�� �3� '6 � � �	�5	
���� ���6
�
8
�
2���	�,���

C=  �� 
������ ���� �
		��	�� ��
�� 
33�,��2� ���� ���
�����
����� �3� '6 � � ���
6
�
8
�2���	�,���

�=  �� �2����3-� ����� �	
,��,���3�	� ���
�������5� '6 � � �	�5	
���� ��� ����
	�����3�	����	,�@���	�������5��

�=  ��	�,�����2��33�,�������
��	���3�	����	����5��������
�����
������3�
'6 � ����6
�
8
�2���	�,��

3+5	� ! ��#�	@" !����!	
�= ;�
�� 
	�� ���� ���2�� �3� �	�5�
��� 9����� ��� 
� ��5�� ��0� �	��

��,��

������5�
�2���9�2�����������2���
	-�
���5�5	����N�
�= ��9�9
�� ���� '6 � � �	�5	
�� 2���5��2� 
�2� ���
������2� ��� 6
�
8
�


�2���9�2��������2���5��,���
	��9�����
����

���
�2
	2�N�
C= ��9� �33�,����� 
	�� ���� ����	��������� 
�2� 
,��������� ���2� ��� ����

���
�����
������3�'6 � ���	��,������6
�
8
N�
�= ;�
���
		��	��������
������
,��2�����������
�����
������3�����'6 � �

�	�5	
���� ��� 6
�
8
�� 
�2� ��9� 2�� ������ �
		��	�� 	�

��� ��� ������ ���
����	�,����	���N�

�= ;�
��
	�������
	�����������	
,��,���������	����3���
�,������
,8
5��5��3�
'6 � �� 
�2� ��	
��5����� 
�2�9�
����
��	����
�����������2��-� ����	�
"'�������������������
		��	������33�,��������
��
�����'6 � ���	��,��N�

D= ��9������,
����������
��	������
��
��2����6
�
8
�����	2�	�������	����
'6 � ��	�5	
�����
�����
����N��

3+9	� ���(�-��*	
 ��� ������� ��� 
��
�

-��,

� 
�2�2��,	������� ���2-��
��2���� 	����9��3� ����

�
�

�
�� 
���	
��	�� ��� "����	,�@���	� ������5�� ��,
�2��5� )5
�2
�� 
�2�
6
�
8
� 2���	�,�� 
���

� '6 � � 	���	��� 
�2� ����	� 	�
��
��� 5���	������
2�,������=�  ��� 
����	� 

��� ���2� ��	� 8��9
�25�� 
�2� �?��	���,�� ���
,��	2��
���5�'6 � �
,������������6
�
8
�2���	�,���
��9�

�
��8��9
�25��
�2�
�8�

��
,4��	�2�3	������������,��	��=� ���
����	����
���2�,

��33�,�	�9����

�3��	�-�
	���?��	���,��9�	8��5�9����6
�
8
�2���	�,��
�,

�5���	���������
)5
�2
�
�2����

�������'6 � �,��	2��
��	�3�	�����2���	�,�=��
�
 ���	����9��3�
���	
��	��3	���
�9�
�2���22
����,����,����	����9
��2�������

� �-����
��,� �	�,���� 5��2�2� �-� ���� 	���
	,�� ��1�,������ 
�2� 4��������=�
*?�
�	
��	-����2����
�2�	����9�
	��,
���3	�����������2
���9�	����
�,��2=�
 ���,

� �������2	
9��3	��� ����
�
�

�
�� 
���	
��	��9�	�� 2���
���2���2�	�
�
,����1�,����� !���� �
�
��C+=� '����2� ��
	,����5����9
�����2� ���
,,����
1��	�

�
	��,
�����	��5��0)�
�2��� �
��	
	���=�%�>��5
����
	,��9
��2�������

,,����	�
��
���
	��,
����	���	���
�2�2�,�������3	���;�#��)(%�����6#��
)5
�2
��)%���)7#���
�2�6�B'*��)5
�2
�9�������=� ���8�-���
	,��9�	2��
��
��9�	�����2���,
�2�2H�'6 � ���
		��	���	����	,�@���	�������5������5�
��



8 
 

�

������
��������2��,
���	��� 	
2�����

�7�	���%����2
�����7�����	
,��,�����
)5
�2
�
�2�,�����
�������3�������9�	2�=��
�
"����9��3�����
�
�

�
��
���	
��	��	���
��2�����2����3�,
������3�8�-�,��,�����
��2�	� �
,�� ��1�,������ 
�2� ���� �
�
�� ��
�9� �	������� ���� ,
��5�	�,

�
,��,����=�B	���������
�,��,����

�3	
��9�	8�9
��2���
���2�!����3�5��+=�
�

�4�
	56�	�4A
�
��
�	���	��

�������	����
�
�	
�,? #��/ 	 ��� ����#�-	#��# &�!	

 ���2����3-��������2���3�'6 � �
,
���������6
�
8
/�	����	,�@���	�
������5=�
�

'�-���
�5�,

�
�
3��-/��,�	��-����2��
7�
��5��5�����
�2�
����
*�������

 ���?
����������	�,����
�2�
���
,���3�'6 � ��	�5	
�������
6
�
8
�2���	�,��

>�

��
�2���1�,������
��	
��5����
%,���������
���
,�/���,����!��	3�	�
�,��	���
��+�

 ��
�����������
		��	����
��

33�,��2��������
�����
������3�
'6 � ����6
�
8
�2���	�,��

��2���2�

�
�����������

�
��	�,��	

��

 ���2����3-�������	
,��,����3�
���
�������5�'6 � �
�	�5	
�����������	�����3�
	����	,�@���	�������5��

'	�5	
�������	����	
��5����
'6 � �,����������'
,8
5��5�
���
��	����	,��,
�
,��-�
��
,������
��
�����
����
���5�����
"�2�,������3����5�
�
'	������5����,
���	���

 ��	�,�����2��33�,�����
��
��	���3�	����	����5�����
���
�����
������3�'6 � ����
6
�
8
�2���	�,��

#��	


�#��,�����3����� ������

�
���# &�"�-	.��� ���'	

 ���,��,����

�3	
��9�	8����9����
��
�,���	�����������2�	��
�2��5��3�
'6 � ����,����	�4��	�����
����	���
���
�����
�

-��2=� ���3�	���
���
��

���
������
	���5���������������2�	��
�2��������2���3�����,
�����=� �����������3�
,
������������2����
��	�
2����������	�3�	��������9�������

���
	���	��
�2�
�����
����=� ������2���3�,
������2���	����� ������,��2� 
���
�� ��
�� ���� ����
�	�5	
�� 2���5�/���
�����
����� �	�,���=�  ��� ���
�����
����� �	�,����
,���	����� ���� 5�

�� ��1�,������� ��	
��5����� 
�2� ,���������=�  ���
���
�����
����� ,���������� ����� �
�,�� ���� ���2�� �3� ���� ,
�����=�
��9���	���������	


����,����
��
�3��,������3��������
�����
������	�,����
��� ��2�
��2� �-� ���� �
		��	�=�  ����� �
		��	�� ,
�� ��� 
�

-��2� 
�� ����
��2���2�

����	�,��	

��
�2�������

���������������
���
�=��

3+<	��"(*	-���������!	
&�����2� 2
�
� 9
�� 
�
�

�
�� 3�	� ���� '6 � � �	�5	
�� ��	3�	�
�,�� ��� ����
2���	�,��	���	�����
8��5����2�33�,�
�������2�	�
8��
���?�
�������
�

-�����3�
�	�5	
����	3�	�
�,�����	�����-�
	�=��
�



9 
 

 ��� 3��2��5�� 
	�� ���� �
��2� ��� �	��
	-� 2
�
H� ��,
���� �3� 
�����2�
��3�	�
����� ��� ���� '6 � � ���2�� �3� ,
������ ��� 6
�
8
�� ���� 
����	� �
��
����
������2� 6
�
8
� �	�5	
���� 9���� 3��2��5�� 3	��� ����	�
����

�

���	
��	�� ���	�3�	��� �������2���3� ���� ,
�������	������2���	���
-��������
����
,��

����2���3�����,
���������6
�
8
=��
	

���+	2	���# &�"�-	.��� ���'	

�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
���	,�:�%����	�

3+=	�����.�#��# 	�.	��"(*	
 ��������������	��
	�
-������2�2�3�	�6
�
8
�2���	�,����

�����
�=��B��2��5��
9�

� ��� ��
	�2� 9���� ���� 2���	�,�� ,���,�
� 
�2� ��
8���
2�	�� 
�8�� *
�A
�����
>

A�	� '
�2�
�	�,� %���� B���2
����� !*>'%B+� 
�2� ���� 6�����	-� �3� ��

���
!6��+�)5
�2
=�  ��� 2�,������9�

� 

��� ��� 
�
�

�
�� ��� 
�-���� �
���9���
3��2���������	�
��=���

��
�
	

#-� ��!$	�  (!	

'�-���
�5�,

�
�
3��-/��,�	��-�
&���� 
�2�
��
��5��5�����
*������

 

��
�
	

��&- � ������

�	���# !!	

>�

�#�1�,������
��	
��5����
����������/�

,���������

 

�"�&"�;��&�#�	

����	
5��
#��,�����
F�

��-�

 

								4���� �!			

����������	 
��
����	 ���	

����	���
�����	

@���9
�25��
�����
6 � /'6 � �
@��

�����
��3���
@���5�
��
@���,
���	���	��
����
@6

���
	���	��
	��,��
�����
	

�
���
����	

@'���	�-�
@>��2�	����4���-�
@��
��	���
	

���
�
�
�����	

@��
33��5� 
���
�� !
�2�
9�	8
�
2+�
@ �,���,

��8�

��
@'	�3������

�*���,��
@6����
�����
@��3	
��	�,��	��
@7�25��
	-� %

�,
����� .�
B��
�,�

�
@&�5����,��
@'�
�,-�
�2�5��2�
���� 



10 
 

�

�1��

�	
1�

�	��
�
	����
�
�
�
���	��	������	

5+2	�����("#����	
 ����,�
���	�2��,�������������
�����
������3�'6 � ����)5
�2
����5���	

�

�2�6
�
8
�����
	��,�

	=� ���2��
�2�3�	�,�	�
�����	��,���������3	�������
���2�/�	��
���/2�3�,���,�����?��	���,�2��-���������
��������
���=�� ����
,�
���	�����������-�2��,�����5��������2���3�����,
�������
�2�5����
��
2�
���2��,	���������	�5	
����2���5�=��

5+3	�  (!	�.	��
�
	#-� ��!	
 ��� ��	�� ���2� ��� ���1�,����� �
	-��5� 3	��� ��2���2�

� ��� ��2���2�

�� ����
����
-� 2�3���2� 
� ���2� ��� ��������5� �������� ����� �
��� ��� 
���� 
�
�
���3
,��	-/��

��-� !%2�
�,�2� 
�
	��	<�� 2�,����
	-+� 
�3�� 
�2� ����� 9�����
2�3�,���,-�9��
2�,
����
�,
�
	���5
��������,�������,��
��2-�3��,������	�
2�
��=� �6
�
�9�������2���
�����
�����2��3�

�9�
����	
	,�-�!����3�5=�+=�
��� 

��� 
���	��2� ��
�� ��2���2�

��9�

� ���8� ���3�
3�

� ��5��	� ���2�� ��
-� �3�

�9�	�
���
����2��
	���
���3��2�!0����5�2�����

=�����C+=��
	

���+	3	��!-��$!	�� ���#�*	�.	�  (!	

�
���	,�:��0����5�2�����

=��!���C+��
 
 ���3�5�	��
��������9����
�����2���
,,�	2��5����6
�
�9��,
�����,
�����

�

-A�2�
����5���
���
���
��
-:�



11 
 

�+�'�-���
�5�,

:���2�
-�,��3�	���
�8��3��2��,
���������?���
������,H�
�+��
3��-/��,�	��-:������3�2
�5�	�!��
,���3����2+��
�8��
��
3��	���2��,��
C+�7�
��5��5�����
�2�&���:�
33�
�
���9��������	������
,,����2H��
�+�*�����:����
,����������,����������5
���
��	��

�
�2�	�,�5������H�
�+� ���2� ��� 8��9� 
�2� ��2�	��
�2:� ���� ���2� ��� 8��9� ��	��
���� 
�2� ���
��2�	��
�2�����9�	
2H�
D+�%�������,����2�:����2����������	�8��9
�25��
�2��

��������,	�
���
E+���
3�
,��

�A
����:����	�

�A����	���	���

���
���5��3�
�3�H�
�2�
�+� 	
��,��2��,�:������,����
������5	
��2�
�2��

�
�
���
	���3�����9�	
2�
��
;�������������	
	,�-���������2��
	��3�	���	�5	����2�������
��,��
2�
�,�2�

�2� 
���	
,�� ���2�=�  ���3�	���3��	� 
���
��3�	�� ����5	���� �3� �
��,� ���2��
!0����5�2�����

=�����C+=�%�2�����5�6
�
�9<������	-� ���3�

�9����
���
��,�
���2���
���������������3�	����������	��
	�����5��=��
�
��9�

�����6
�
�9�,��,����

�A
������3����2������

��	
�����9����-�
��
-�
�����0/%�������5���	

�
�2�'6 � �����
	��,�

	=���9���	����
-���������
��

	��	�
��
��������0/%����
�2�'6 � �
	��2��,����2=��

5+3+2	��*!��-���#�-	�  (!	

 �����-���
�5�,

����2��
����������2��-�6
�
�9�
	��
��8�2����������-��,

�

�2� ��-,����,�

� ���2�=� '�-��,

� ���2�� 	�3�	� ��� ������ ��	�
����5� ���
��

��-���2����
�2���,
�2����2�,

�
�2���?�

�	��	�2�,�������

������2�=��
�

�����
���

��� ��� �����
��2� ��
�� ��@C�K� �3� �	�5�
��� 9�����9��� ����� ��0� ���������
���2��%%" �!;�#�����E+=� ����3�5�	��,��
2����
�
���
����5���
����0���	���
����	���2����2
�
5������	��	�2�,�������-���
�5-�
�2������4����
-�	�2�,��
3�	��
��-�
��2���
����	�5	������!����
������+=� �������
������
��������3�����
�	�5�
�����0����������9�����
	��
�8�
-�����������
	
-���
5����3���3�,����=�
(���	���
����� ����� �	�5�
���9����� �	������ 
�� 
����
�

� ,
���,�� ��� 

���
,
���,

� ��
5��� 9���� 
�� �	5���� ���2� 3�	� �	�
������ 3�	� ����	@,�		����
��3�,������
�2��	��%%" =�;����� ���	�3�	�����2� ����
��� ��3�	�
��������
��0/%�����
�2���3�	�
��������9�����9��	��
�2���9����-�,
��	�,�����,
	��

�2��	�
������9�������-����2���=��
�

�� �������
���

��0/%���� ��� 
� ,�	���,�� 2���
��
���5� 
�2� 3
�

� 2���
��� !

����5�� ��9�
��2�3��2� �-� ,���	��������� ,
	�� ��,
�2��5� �%%" +=�  ���� 3
,�� ,	�
����
2���
�	�
�2�����

���	��	��3�	�
�-��2-���2�	5���5�
����0�����=�>���������
��5����0��	��

��,��������5��3�6
�
8
�!�=�K+�!���������+��


��	�5�
���
9������
���������?����2�������0/%����
�2������8��9��������
�,
������3�

� ��������� ��0� ����=� ��� 
22������� �	�5�
�,-� ��� ���2��,�� �3� ���	���,��2�
��?�

���,�����	��
�2�������
�-�
	��
�?�����
�2�
9
	���3������������

�
	��8��3�����5���0���������=�#��	���K��3�)5
�2
��
2�
�����
�������������	-�

                                                 
2 Exposed here refers to having had, seen, heard or even taken care of an HIV/AIDS patient and thus seen how 
society, family and in laws treat HIV positive people. 
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3 Testing algorithm ; 1st test is with determine if positive it’s followed  by statpak, if both are positive diagnosis 
confirmed if  statpak is negative, then unigold is used to confirm diagnosis. 
4 Currently, Single dose Nevirapine given to the mothers at diagnosis at all sites.  For sites with other ARV drugs 
(Hospitals and HC IVs), the regimen depends on gestational age at presentation and HIV stage; between 28-32 
weeks- oral AZT twice daily until delivery, between 32-36 weeks- AZT/3TC. If in clinical or CD4 stage 3 or 4, 
HAART is given.   
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5 Level of knowledge was assessed using a composite indicator which comprised three components; 1). 
Knowledge that HIV can be transmitted from mother to child; 2). Knowledge that MTCT occurs during 
pregnancy, labour and delivery and breast feeding; and 3). Knowledge that medical personnel can offer special 
drugs that can be used to reduce the risk of MTCT. 
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6 A composite indicator was used to determine the attitude. It included 4 questions for the respondents; 1). 
Whether they would be willing to buy sugar, fresh vegetables or other food staff from a market vendor who had 
HIV/AIDS? 2). whether a female teacher who has HIV but is not sick should be allowed to continue teaching? 
3). whether they would be willing to care for a relative sick with HIV/AIDS in their household? And  4). 
Whether they would want to keep it secret if a family member had HIV/AIDS? 
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